
integrali 10

(1) 1

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

x(x− 1)(x− 2) dx

• 1
4
✓

• 4
• 1

3

• 3

(2) 2

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

1

1 + (1− x)2
dx

• π
4
✓

• −π
4

• π
2

• −π
2

(3) 3

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

5

√√
x · 3

√
x dx

• 6
7
✓

• 5
6

• 7
6

• 6
5

(4) 4

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

1



Calcolare ∫ π
3

0

sinx · ln cosx
cosx

dx

• − ln2 2
2

✓
• 0
• 1
• −π

4

(5) 5

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

x · 3
√
1− x2 dx

• 3
8
✓

• −3
8

• 8
3

• −8
3

(6) 6

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 2π

0

sin3 x dx

• 0 ✓
• 1

3

• π
2

• π

(7) 7

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ π

0

sin4 x dx

• 3π
8
✓

• π
2

2



• 1
2

• π
3

(8) 8

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1
2

1
3

1

x3 − x4
dx

• ln 2 + 7
2
✓

• ln 3
2
− 1

5

• arctg 2− 2
3

• ln 2
3
+ 5

3

(9) 9

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

1

(1 + x2)2
dx

• 2+π
8

✓
• π

2

• 2
√
2− π

2

•
√
2π − 2

(10) 10

Multiple choice
�� ��marked out of 1.0

�� ��penalty 0.10
�� ��One answer only

�� ��Shuffle

Calcolare ∫ 1

0

1

4 + x4
dx

• ln 5+2arctg 2
16

✓
• 2 ln 2−π

16

• ln 3−
√
π

16

• ln(2+π)−ln(2−π)
16

Total of marks: 10

3


